Figure 2-figure supplement 2
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TCGCAACTGTGCGTCGGACTGGG (kctd10 I1 site)

Ref. AATTAATCGCAACTGTGCGTCGGACTGGGTTTCT

A6 AATTAATCGCAACTGTGC------ CTGGGTTTCT

A8 AATTAATCGCAACTGTGCGT--—------ GTTTCT

+5 AATTAATCGCAACTGTGCGTCTATTGCGACTGGGTTTCT
+2 AATTAATCGCAACTGTGCGTCCTGGACTGGGTTTCT

Endogenous kctd10 locus (kctd10*):
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Targeted kctd10 locus (kctd107°c-Ne):
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After Cre induced recombination (kctd10%):

5’ Junction: K10F1 + K10R2

3’ Junction: K10F2 + K10R1
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5’ Junction: K10F1 + K10R2 3’ Junction: K10F2 + K10nR1
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5’ junction : (kctd107°G-Ne-1)

Ref. TCGCAACTGTGCGTC TGG
Seq. TCGCAACTGTGCGTC-~-AGGAAACAGCTATGACCATGATTACAGATCTGTCACCTCCAA---TGG

3’ junction :(kctd107°C-Ne-7)

Ref. TTACAGATCTGTCACCTCCAATGACTA: ACTGGGTTTCTCATT
Seq. TTACAGATCTGTCA-~---—=-====---! TCTGTCACTATCGTCTTGAGTGG-~~-~~—~~ CTCATT

5’ junction :(kctd107°C-Ne-2)
Ref. CGTGACGTCATTAAATTAATCGCAACTGTGCGTCGG--GGGTGGCTCATTCGGTGAGAGCTGTTGT
Seq. CGTGACGTCATTAAATTAATCGCAACTGTGCGTCGGTA-GGTGGCTCATTCGGTGAGAGCTGTTGT
3’ junction :(kctd107°C-Ne-2)

Ref. ACCATGATTACAGATCTGTCACCTCCAATGACTA-—————————-, ACTGGGTTTCTCATTCGGTGA
Seq. ACCATGATTACAGAT---—==-====-—==--=== GCTGGGTGATTACTGGGTTTCTCATTCGGTGA
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